Engineering Mechanics – Statics CE 201-012 (02 & 03)

Notes: Lectures 41-43




The following notes summarize the key issues introduced in lectures 41-43. The issues stressed in these lectures are devoted to the analysis of problems to determine the center of gravity (C.G.) or center of volume or the center of area (centroid). 

· The center of gravity of a body is determined from the principle of moments. The coordinates of C.G. of a homogeneous body is determined from the following equations:
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· As dW= dV =  l dA =  A dl, the above equations may be written in terms of dV, or dA or dl depending on the type of differential element. 
· It can be easily seen that a careful selection of the differential element will simplify the computations of the coordinates of the center of gravity/centroid.

The following examples will illustrate the basic steps involved in the computations of the coordinates of the center of gravity/centroid for typical problems including some notes on selection of a simple differential element.
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